1) It is obviously that men spent more time watching news programs.  
改错：It is obvious that men spent more time watching news programs.

2) There was a dramatically increase in the number of cars. 
改错：There was a dramatic increase in the number of cars. 

3) An increasingly number of people choose to live out of the city centre. 
改错：An increasing number of people choose to live out of the city centre. 

4) The cost of food increased significant during the 20-year period. 
改错：The cost of food increased significantly during the 20-year period. 

5) I true agree with this opinion. 
改错：I truly agree with this opinion. 

6) People should keep a health diet. 
改错：People should keep a healthy diet. 

7) Happy is very important to people of all ages. 
改错：Happiness is very important to people of all ages. 

8) Getting positively feedback from employers can contribute to a lot of happy. 
改错：Getting positive feedback from employers can contribute to a lot of happiness. 

9) The government should share the cost of higher education, because of the society benefits great from university education. 
改错：The government should share the cost of higher education, because the society benefits greatly from university education. 

10) Traditional ways of teaching will be instead of by technology, including the internet and computers. 
改错：Traditional ways of teaching will be replaced by technology, including the internet and computers.

11) As the development of technology, it has become incredible convenience to travel. 
改错：With the development of technology, it has become incredibly convenient to travel.

12) [bookmark: _GoBack]People need to more communication with their neighbours. 
改错：People need to communicate more with their neighbours. 


